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General Instructions :

20 Y¥ T3 B o 9, 9F-37 3R 9F-9 § ai T §1 SS9 9ri % 9 % SR faed
21

The question paper comprises of two Sections, A and B. You are to attempt both the sections.

it v st €
All guestions are compulsory.

TR FT-37 3R - ¥ T e ¥ 2R gy - yuw fae d
All questions of Section-A and all questions of Section-B are to be attempted separately.

T-AFITHE F1V3F T - aH S el FrAn @l smm@malas )
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

Y-AF I H M4T6F Y S-S il & & | 9% 2R &7 30-30 9illsi 7 =)

Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered in
about 30 words each.

A3 & T § 9179 18 & W diF- 14 st % € | T SUR & 50-50 wllEY 7 <1
Question numbers 7 to 18 in Section-A are three marks questions. These are to be answered
in about 50 words each.

Y-S F YA E 19T 24 F 9% US- Ui St & ¥ 39 Sn s 70-70 wlls 7 3

Question numbers 19 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

W % U Y U1 25 33 F T AT ST W ARG TR T S | T W T
T I w81 R 9n e § O Ave FEd @ 99 sugla omes T

Question numbers 25 to 33 in Section-B are multiple choice guestions based on practical
skills. Each question is a one mark question. You are to select one most appropriate response
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out of the four provided to you,

S % A 34 9 36 % ¥ Wi sive w sk A-qFHF F
Question numbers 34 to 36 in Section-B are questions based on practical skills are two marks

questions.
HIfT-A / SECTION-A
Py ST So! FIeTeer S et 9 e &2 1
What makes lysosomes such effective digestive bag ?
i 30 kg B % forelt v 1 W37 150 kg ms~1%1 3ot 3 W iR 1
A body of mass 30 kg has a momentum of 150 kg ms—1. Find its velocity.
/ WﬁWﬁW%WﬁWEJWWI -

Mention two necessities for varietal Improven ent in crops.

[

Ao T SR ST W em- e @ e v e 2 Terelt i 1 SRl S T s

What is the effect of change of pressure on p! ysical state of matter ? Explain with an example
of a gas.

VB/ ™ 7 st % T fafe 2
(@) == AR AR F g Ay e =0
(b) = ferd T ey aren 3aw
(©) %Wﬂﬁwmsﬁ%#ﬁﬁa#‘mﬁaﬁmmm
(d) =% Fae STl 5 forsit F sefem sty
Name the following tissues.
_a) The connective tissue found between the : kin and muscles.
The tissue which connects two bones,
The epithelial tissue which forms the lir mg of the kidney tubules.
(d)  The tissue which is present in the veins »f leaves.

6 et it & w%ﬁmwﬂwﬁzﬂwsaﬁwﬁ#wiﬂtWWl & & 15 m 9y 2
W T A F T ¥ 9% 97 v ) T s 9k forg o & @ ia g2

In an archery practice, an arrow was released from the bow with velocity
20 m/s. It strikes to the board situated 15 m ahead and stops. Find at what rate the arrow
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was accelerated 7

M (a)  HIHTT ATEES O WA eTeT oty F fadie SR 3
Frsit Ae F wgla yu @y & qest o D wrf &2 .

(b).
/(é{ Differentiate between simple distillation and fractional distillation.
_{Fq What is the function of beads in fractionating column used in fractional distillation ?

5/ et &R ¥ o9 e o F snur w fadeT SR 3
(a) e (b)) TEEO ST | (¢  mFE .
Differentiate between liquids and gases on the basis of their.
(@)  Auidity (b)  rate of diffusion (©  volume

A Al @ A aE e @ difea ot | wiae T ol oF & R 9 e | S wE ey a2
Sae, SuH e = i ullil, S ok g o e 9 w5 w9 ¥ o ol o o =5 R
(@)  wfem g weita gedr =t e @ SR
b) ¥ frarmem ¥ R, feres, sesy our 9 U Ea B vewE SR

Mallika’s mother was suffering from cold and cough. Mallika prepared tea for her mother.
She boiled water in a pan, then she added tea leaves, sugar and milk to it. She filtered the tea
in a cup and served to her mother.

Aa)  Explain the values shown by Mallika.

\}b)’ Identify solute, solvent, residue and filtrate in this activity.

y/(eﬁ ET I T IS Faw €4 Tl ST ¥ 2 FRO Aed HT) ’ 3
@ Wa % fafisr gz ¥ 7 fafgu)
e g g+ fafag)

(c

g{ Blood is called a fluid connective tissue ? State reason,
) Name the various components of blood.

jv:’)/ State the main function of blood.

1 ﬁﬁﬁsﬂm%wﬁ&ﬁnﬂﬁmﬁwaﬁm%ﬂﬂ%ﬁﬁmm dr | % st 3
T SR BB ot o 9T fowrd ot ¥t 04 S d? T et ¥ faw 9l @ T e
SUrerEi 27 9% o= 5 O &2

If a Jeafy branch of a healthy pottﬁhplant is covered with a polythene bag, iny water droplets
are seen on the inside of the bagWhy does this happen ? Which part of the leaf is responsible
for this function ? What are its other functions ?
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Rt 01 w1 MR gl F WMT W20 N F) T FT 96 ¥ RO S9E W SEE YR S0 N EmM? 3
gea W 341 = 6,400 km.

A particle weighs 120 N on the surface of the earth.

At what height above the earth’s surface will its weight be 30 N ? Radius of earth = 6,400 km.
%ﬂ?ﬁqﬁaﬁmﬁwﬂﬁﬁfm%?rmaﬂmquﬁﬂw SH e S 3
A body can have zero average velocity but not zero average speed. Justify giving an example.

w%?ﬂawﬁaﬁmﬂw—ﬁwwwaﬂﬁm 3
Describe any three effects of force with the help of one example each.

1 =fafea & sro dfm | | 3
(@) T = AHee safta ¥ e S afew geat @ o w3
(b) g TE | gof e 6

Account for the following :

[a) The atmosphere of the earth does not escape into the space, but remains attached to the
earth.

{b) The earth is not a perfect sphere.

HE T Gt g Fife ) T 9w A fafEw) 3

Define the term organic farming. Write its four advantages.

‘*Wﬁ%ﬁﬁm&ﬁﬁﬁh@%ﬁqﬁﬁmﬁ%ﬁ%ﬁ%ﬁﬁﬁi”fﬁﬁﬁmﬁ 3
ﬁﬁmwmﬁmaﬂm@ﬁiﬁql

“India practices several different kinds of irrigation system to supply water to the agricultural
lands”. List down any three of them and explain the processes.
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Write three points of differences between manures and fertilisers.

y/ Freiger ¥ et 99 O = ava Wi Seee ¥ 77 e # fafe afed F gt s
it :

Sieft, e, gy, uET ®=E

escribe any three properties of colloids. Categorize the following examples of colloids into
different categories of colloids :

7" jelly, fog, milk, shaving cream.

\/w/\};:a/ Teref % wUl % oA fucnates v fofau) S @ sad wWEdm 7 $9 HHl
AeE] WYRYT T S § oF O WEY GvE 9 ol WINRY THE gy ® S ¥ 98
El S & ? 9% ISy F F0 S B rfrererfors Tt g9 # 7
(b) =9 Fe fFg yoR fag =i 5 o, oo a9 v o & ol s i saend ¥ 9 fF Re
91y ?

K/m/ List three characteristics of particles of matter. When we add some" sugar or salt
in a beaker containing water, after sometime the sugar or salt becomes invisible. Where

does it go ? What property of particle of matter does it show ?
(b) How will you justify that ice water and steam are the three states of a substance
and not different substances ?

21 3 S o1 A fafae fes wifved 9ga My itm d@ € s s Sasm S WWRR A & 5
| T ¥ T W 7 YgaEnt & gan WK ¥ faemm i i o Seea wiae S 31 S d 9
T #l L) 7 Edl HrfvmERit I = w5
STl @ 7 Sge F 91T W ol S Sl w1 A fafae e g dliem & agan Sigs @
CERIGR HEETo -8

Name the tissue whose cells are highly specialised for being stimulated and then transmitting
the stimulus from one place to another within the body. Mention three organs in our body
which are composed of this tissue. What are the cells of this tissue called ? Name two tissues
in animals the combination of which enables animals to move rapidly in response to stimuli .

22 i R R e R [ e P A B 0 = 1 -
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(a) SWEaTFH suemEye? akedr?
(b) Hal=d oy F S SIS
()  ome [ <6 afs swilla falld =+ oie w92 & o o s & sa e

S €7 AT R H G HirAg
In the figure below the card is flicked with a push.

. What do you observe in above case ? and why ?
e State the law involved in this case.

c What will be your observation if the above coin is replaced by a heavy five rupee coin.
tify your answer.

23/ (a) TRt wig = B =1 25mA 200 g oo O Fraw wR R | Fayee WSS W GSEEH @ S

& oifenT sr H w8 ot & 042

(b)  Touas W WY T 4R FF e gat W swE yR F O e @

() Y= W 'g W HE I wE A S g ?

(d) €= e AR wr e A A g ?

(a) A bar of metal has a mass 200 g and a certain weight Mass remains the same when
weighted at equator but weight decreases. Why ?

(b) ~ What will be the change in weight on poles as compared to that at equator ?

(c) Where is the value of ‘g’ equal to zero on earth ?
(d)  What will happen if there is no acceleration due to gravity ?

24 Tt i fafEr o e F aof S s gu s see SRR e T R A g e ¥ 5
Describe in short five methods by which you can increase the yield of crops and livestock.

HF-4/ SECTION - B

25 aﬂﬁm%fﬂwwﬁaﬁA,BmcuﬁEﬁMLﬁﬁﬁmtﬁm%ﬁ%mmmw 1
T T AYE o Fo AEEH faeea #Y ol | e A 9% B W e e 1 Y geni A
Al T IS & T 6 9E o e §

()  =Ee, T, ] (b) =S, AR, T
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Aditya a lded 1 or 2 drops of jodine solution to three test tubes A, B and C containing 2mL of
food exta ct of various kinds. A dark blue colour appeared in test tubes A and B. The correct
order of { yod samples taken in the three test tubes can be::

(@ Ri-e dal, potato (b)  Rice, potato, dal

&)  Pouato, dal, rice (d)  Dal, rice, potato

26 f1 A% ¥ Fw © A= $ Wy Ao WA ? 1
@  @RE m) O © ImEE d) e
Which one of the fc lowing chemical gives a blue black colour with starch ;
(a)  fluorine (b)  chlorine (9  iodine (d)  bromine

27 R ¥ opob e wew e ¥ ol Y T F0 W AT W e e fueer ? 1
@ WA EE T _-
(b) e 1 TE W 9ISt
(©) A 1 I 7% W GERES
(d) e o ge A A R e €

On heating a mixture of iron filings and ; ulphur powder, which component will melt first?
(@)  grey coloured iron filings.

()  yellow coloured sulphur powder.

{c) black coloured iron sulphide.

(d)  iron and sulphur will melt atsam: >mperature.

28 Fortlt wim % <A T WA ¥ die-v ?mmwﬁﬁmﬁ,ﬁmﬁﬁiﬁ“mw 1
8, FE SEECHES S T ;

e

Eﬁ 7|
it

( Im# @ W
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In an experiment, carbon disulphide was added to a test tube containing a mixture of iron

filings and sulphur powder as shown in the given diagrams.
Fra R F =y

Sulphur —35E Clear —- Dhanr) sl
g solution |........ solution |-

% ]

Sulphur powder Iron filing Iron filing Sulphur powder
@ m () ()
The correct observation is represented in diagram :
(@ I k) I (© @ W
29 1

Forl =Tt & 100mL IR Tohe F1 TgT 1909 A 36 §9 A1 Sle-<a- $ (Al 74T 31 :
Fo TG W@ Y e | 59 vvEm 39 fyge w freifen S sTasy Wi R | 39 SreRy w1 i o
(2) e b) HuenE
@ (@ awe@
100ml of saturated copper sulphate solution was taken in a beaker. A small amount of iron

added to the beaker and left undisturbed for some time. The mixture was then filtered to
residue. The colour of the residue was found to be :

(a) Greenish blue (b)  faint green
(c) Grey (d)  reddish brown. "
\®0/ e F g T W faeh 9 ot e @ e § I W A L
whiforen fafll =61 {0 femm %
(a) &Y (b) W (¢ TIeEie™ (d) e

Amit is observing temporary mount of an onion peel stained with safranin under a
microscope. The colour of the cell wall appears :

(a) deep blue {(b) black (&  pinkishred (d) yellow

3‘\/ e e el ¥ mifsRd X, Y 8l Z =t ggei 1
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(a) Y - THYrE 7 — ool gl
(b) Y - 5% Z - Ty

(c) Y - TEYFT Z - & 9g!
(d) Y-F5% Z - & Hg

Identify X, Y and Z in the figure of a striated muscle.

LATR

(a) X - striations Y - vacuoles Z - Light band

43y X - dark band ~Y - nucleus Z —vacuoles
(c) X - dark band Y - vacuoles Z - light band
(d)  X-dark band Y - nucleus Z - light band

32 R THE, S 991 SAHIE €9se & Mgn & ue 3 ygs e wi aRE wmadiwa g . 1
(@) @ Ee, ST 9 S
(b) =@ He, e, andet au s
(c) T, 5 § Hiem, Freed aur arsdis
(d) g 9% A, S W SieE a9 S

The correct order of methods applied to separate the components of a mixture of common
salt, sand and ammonium chloride is :

(a) Dissolving in water, evaporation and sublimation

(b} -  Dissolving in water, filtration, evaporation and sublimation.

{tg Sublimation, dissolving in water, filtration and evaporatior.

(d) Moving a magnet, dissolving in water and sublimation
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(@ 2007 ¥R T B =E)

(b) 200 T YR ¥ HH o el B |

() 2007 ¥R & b g 9fen |

(d) 1A AfuF wig w6 T8 gzar ¥

A wooden block of 200gwt placed on a horizontal table was to be pulled from one side by
using a spring balance, to find the force rec[uued to just move it. The maximum range of the
spring balance used in this experiment :

(a) should be atleast upto 200g wt.

(b) can be less than 200 g wt.

(c) must be more than 200 gwt.
(d) less or more, it does not matter.

7 phj vyx8oyx chelkjksa esa jks Xywdlkst ikmM;j] nw/] cleyw rPkk feV-Vh esa pkj Nie=kksa dks Tkkuh Mleyus :

4 ds fy, dgh x;kA izklr fe].kksa dks okLrfod foy;u dksykWbM rFkk fuyEcu esa oxhZd'r dhft A
Four students were asked to add water to glucose powder, milk, sand and soil separately in
four beakers. Classify the mixtures as true solution, colloid and suspension.

/’5 kol s 0Z d b Kb s d o g O fl o sy p) P2 s g ;

7 tkB~;kad de wksV fd:e thudk phefg.\
In an experiment to determine the melting point of ice in laboratory, what form of ice should
be preferably used? When should the reading of thermometer be noted?

?é A vikid us 1og fd'kfe'l 35ml vkigr ty esa Mhkydj chdj A esa fHkxks;s viSj bruh gh ele=kk chdj B esa :
fHlockshZA mlus chdj A dk rkieku 200C j[kk vkSj chdlj B dk 40°C jldeA ,d 7kaVis ds ckn chdj A vkSj B esa
Jlkes fd'kfe'kksa trjle vo'kksf™kr ty dh izfrkirk ek=kk dh rqyuk dhftA
A teacher soaked 10g raisins in 35ml of distilled water in a beaker A and similar amount in

beaker B. She maintained the temperature of beaker A at 20°C and beaker B at 40°C. After an
hour compare the percentage of water absorbed by the raisins in beakers A and B.

FEEFE
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